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A ra—x
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KA <Hb EHY VAZAN PR3 <HD EH AN
AR—K,/T 4= 2 KR -3C / -1C A=/ T 4=y a R -6°C / -4C
F:
JIERL Af=h -8 EEEE 1AH 2K & F L—x
No No K4 B 4% B 4 1 L L I 15 R A (Vg
1 36 bk A T Ly 44.55 46.23 1:30.78
2 32 WA 8L T =L 42.26 48.72 1:30.98
3 34 Pkl BE T — YL 44.13 49.42 1:33.55
4 35 It N T T LS 44.83 49.04 1:33.87
5 31 Al Bz MRNFL 44.75 50.13 1:34.88
6 33 mE = T =L 46.31 50.38 1:36.69
7 37 Eli Fsz T LS 51.00 55.50 1:46.50
DID NOT START [1st RUN] 1
30 il Rk T — YL
DID NOT FINTSH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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v ra—A
B AR E RNEE A K — N HiE 1270m
VP E=SIAVER: = 1070m
o 200m
2R 850m
A M — N1 JIARKEZ NN
7 4=y v a5 AR T3 [/NAJE]
1AKH 2AH
aA—RAyH— a—2AtyH—
TP % 28(27) A A — N RE HEFT%L 27(26) A A — R
KA <Hb EHY VAN KAk <HD EH AN
AR—K,/T 4= 2 KR -3C / -1C A=/ T 4=y a R -6°C / -4C
F:
JIERL Ag=} -8 EEEE 1AH 2K & F L—x
No No K4 B 4% B 4 1 L L I 15 R A (Vg
1 38 (TS /N T Ly 52.40 57.15 1:49.55
2 39 INERR BEF] =7 1:02.22 1:09.40 2:11.62
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
B3R KR N
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7 4=y a s 1070m
o 200m
Eoeiy 850m
A M — N1 JIAE 2 [/INHEE]
7 4=y v a5 IR F5 = [/NAJE]
1AKH 2AH
aA—RAyH— a—2AtyH—
TP % 28(27) A A — N HEFT%L 27(26) A4 —
KA <Hb E4t VAN RApe <H b VAZAN
AR—K,/T 4= 2 KR -3C / -1C A=/ T 4=y a R -6°C / -4C
F:
JIBAL Ah=h -8 EEEE 2KRH & B L—2x
No No K4 B 4% B 4 R FE O AA b
DID NOT START [1st RUN] 1
40 R T
DID NOT FINTSH [1st RUN] 0
DISQUALTFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
Btz ARERE N
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v ra—A
B AR E RNEE A K — N HiE 1270m
VP E=SIAVER: = 1070m
o 200m
Eoeiy 850m
A M — N1 JIAE 2 NN
7 4=y v a5 IR F5 = [/NAJE]
1AKH 2AH
aA—RAyH— a—2AtyH—
TP % 28(27) A A — N RE HEFT%L 27(26) A A — R
KA <Hb EHY VAN KA <HD EH VAZAN
AR—K,/T 4= 2 KR -3C / -1C A=/ T 4=y a R -6°C / -4C
F:
JIERL Ag=} -8 EEEE 14AH 2KRH & B L—2x
No No K4 B 4% B 4 1 L L I 15 R A (Vg
1 41 A SR AR—=Y < 49.07 53.54 1:42.61
2 42 mEt fE—ER T =L 49.05 54.15 1:43.20
3 43 ® R T =Ly 49.61 55.30 1:44.91
4 46 K 5% HOSC 52.62 55.27 1:47.89
5 44 &H EER KA T 56.21 1:00.77 1:56.98
6 45 He Hi— NZA T 58.84 1:03.82 2:02.66
747 NH KA TV 1:04.08 1:06.93 2:11.01
DID NOT START [1st RUN] 0
DID NOT FINTSH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 1
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B AREERE NN a— R4
v ra—A
B AR E RNEE A K — N HiE 1270m
T 4= 2 Hs 1070m
o 200m
2R 850m
A M — N1 JIARKEZ NN
7 4=y v a5 AR T3 [/NHR]
1AH 2 KB
aA—RAyH— a—2AtyH—
TP % 28(27) A A — N RE HEFT%L 27(26) A A — R
KA <Hb EHY VAZAN PR3 <HD EH AN
AR—K,/T 4= 2 KR -3C / -1C A=/ T 4=y a R -6°C / -4C
F:
JIERL Af=h -8 EEEE 1AH 2K & F L—x
No No K4 B 4% B 4 1 L L I 15 R A (Vg
1 50 FAE Eth KA TV 1:05.17 1:09.02 2:14.19
DID NOT START [1st RUN] 0
DID NOT FINTSH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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